

8  $\underbrace{(2k+3) + (2k+4) + \dots + 4k + (4k+1) + (4k+2) + (4k+3) + (4k+4)}_{k(6k+7)} \stackrel{?}{=} (k+1)(6k+7)$   
 $1k(6k+1) - (2k+1) - (2k+2) + 4k+1+4k+2+4k+3+4k+4 \stackrel{?}{=} \text{"}$   
 $6k^2+k-2k-1-2k-2+4k+1+4k+2+4k+3+4k+4 \stackrel{?}{=} 6k^2+6k+7k+7$   
 $6k^2+13k+7 = 6k^2+13k+7$

13  $\underbrace{2^{k+1} + 2^{k+2} + \dots + 2^{2k+1} + 2^{2k+2}}_{2^{2k+1} - 2^k - 2^k + 2^{2k+1} + 2^{2k+2}} \stackrel{?}{=} 2^{2k+3} - 2^{k+1}$  ↑ n=k+1  
 $2^{2k+1} - 2^k - 2^k + 2^{2k+1} + 2^{2k+2} \stackrel{?}{=} \text{"}$   
 $2 \cdot 2^{2k+1} - 2 \cdot 2^k + 2^{2k+2} \stackrel{?}{=} \text{"}$   
 $2^{2k+2} - 2^{k+1} + 2^{2k+2} \stackrel{?}{=} \text{"}$   
 $2 \cdot 2^{2k+2} - 2^{k+1} = 2^{2k+3} - 2^{k+1}$

22  $1^2 \cdot (k+1) + 2^2 \cdot k + 3^2 \cdot (k-1) + \dots + (k+1)^2 \cdot 1 \stackrel{?}{=} \frac{(k+1)(k+2)^2(k+3)}{12}$  n=k+1 n-py "הצבה של n"  
 $1^2 \cdot k + 2^2 \cdot (k-1) + 3^2 \cdot (k-2) + \dots + k^2 \cdot 1 = \frac{k(k+1)^2(k+2)}{12}$  n=k n-py "הצבה של n"

$1^2(k+1-k) + 2^2(k-(k-1)) + 3^2((k-1)-(k-2)) + \dots + k^2(2-1) + (k+1)^2 \cdot 1 \stackrel{?}{=} \frac{(k+1)(k+2)^2(k+3)}{12} - \frac{k(k+1)^2(k+2)}{12}$  ישל 13 הצבה של n

$1^2+2^2+3^2+\dots+k^2+(k+1)^2 \stackrel{?}{=} \frac{(k+1)(k+2)}{12} [(k+2)(k+3) - k(k+1)]$

$1^2+2^2+\dots+k^2+(k+1)^2 \stackrel{?}{=} \frac{(k+1)(k+2)}{12} (k^2+2k+3k+6 - k^2-k)$

$\text{"} \stackrel{?}{=} \frac{(k+1)(k+2)}{12} (2k+6)$

$1^2+2^2+\dots+k^2+(k+1)^2 \stackrel{?}{=} \frac{(k+1)(k+2)}{12} (2k+6)$

המשוואה מתקיימת לכל n - ראוי להוכיח באינדוקציה